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1. ANRaY

— > fx

qas X =

n

X = Aundg
2 = HOIINVOINANVITHINATWDAUAZUUY
n = WIUNGUAIDYN

2. EULEUUUNIATTIY

qa3 SD =

2
fo \ fo
n n
SD = AUTBUUUATIIU

> fx
> fx \

HOIINVDIHARUITHINANVANUAZLUY

MO INYDINANVITHINANNDAUAZUUULAAE
TUIUNINMEITD
n = UIUNGUAIDIN

3. MSNATDUANULUANA1UDIAUNAEY

qas t =
t = MINATUANNUANANYBIANNTY
X, ,X, = AURAIVRINGUAI0ENN 1 LAZNGNAI0E19N 2
2 2 1 QJ 1 l:‘ 1 % L} lﬂ'
s? .S = aulsisIuueanquied e 1 tazngudiedan 2
n,, n, = DWIUNGUAIE1IN 1 1aYNgUAIDEIIN 2

4. MIUATIzHaNuulsliu (Analysis of Variance) (Best and Kahn, 1998, p.406)
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MS,

qas F v
w
F = #anauveenusilsau (Variance ratio)
MS, - mmdennmudsisiuszninngu
MS,, - awdennudsdsmnielungy

5. manfSeuiieunygu enadouaundeg laiuana19niul9is Least Significant

Difference (LSD)
gas LSD = t, MS, n,+n,
nan
LSD = Least Significant Difference
t = MINATOUANULANA1NVDIAUARY
MS,, = awndsanuulsilsiumelungy
n,,n, = UIUNQUAI0E1IN 1 HAZNGNAIDYN 2
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